Category 1: Matter and Energy A & B 

Quiz #1

1 How many atoms are in the chemical compound Ca(OH)2 ?

A 3
B  4

C  5

D  6
2 How many elements are in the chemical formula Ca(OH)2
B 3 
B  4

C  5

D  6
[image: image1.emf]
3 Based on these observations, which solid most likely reacted chemically when mixed with vinegar?

A 1

C 2

D 3

E 4

4 Which lab procedure described below would provide information about the chemical properties of a clear liquid substance?

F Cooling it to find its freezing temperature

G [image: image6.emf]Observing the rate at which it evaporates

H Comparing its density to the density of water

I Adding an acid to see whether a gas is produced

5 Which liquid in the picture to the right is the least dense?

J liquid 4

K liquid 3
L liquid 2

M liquid 1
6 Which of the following is an example of a chemical change?

N Ice cracking

O Sugar dissolving

P Milk souring

Q Lead melting
7 An empty graduated cylinder has a mass of 60 g. When filled with 30 mL of water, the cylinder has a mass of 90 g. What is the mass of the 30 mL of water?

R 30 g

S 60 g

T 90 g

U 900 g

8 Calculate the density of an unknown substance if the mass is 250 g and the volume is 10 mL. 

V 2.5g

W 25mL

X 25 g/mL

Y 240 g/ml

9 [image: image7.emf]A diet cola and a regular cola in identical cans are each placed in separate beakers containing water. Which of the following conclusions is the best for the experiment shown above?

Z The diet cola is less dense than the regular cola.

AA The diet cola has fewer calories than the regular cola.

AB There is more buoyant force on the can of diet cola than on the regular cola.

AC There is more liquid in the can of diet cola than in the regular cola.

10 A boron atom is made of  ___ .

A 
5 protons, 5 neutrons, and 5 electrons

B 
5 protons, 6 neutrons, and 5 electrons

C 
5 protons, 6 neutrons, and 6 electrons

D 
5 protons, 6 neutrons, and 11 electrons
11 Which statement best explains the difference between the two substances CO and Co?

AD CO is an element but Co is a compound.

AE CO contains calcium but Co does not.

AF CO is made of two elements but Co is made of only one.

AG CO is a chemical symbol but Co is a chemical formula.
12 Which of these will balance the equation below?    

AH [image: image8.emf]ZnCl

AI Zn2Cl

AJ 2ZnCl

AK ZnCl2
13 Which of these best models an atom of lithium?      

             A   [image: image13.emf]B[image: image2.emf]C[image: image3.emf]D[image: image4.emf]
14 On the periodic table, the element boron would be classified as a ___ .

AL metal      
B  nonmetal

C  metalloid

D  noble gas 
15 The elements from which of the following groups are most likely to react with potassium (K)?

AM Group 2
B  Group 7

C  Group 13

D  Group 17
16 Sodium, aluminum, and chlorine are alike in that they all  ___ .

AN are compounds

AO are nonmetals

AP have one valence electron

AQ have three energy levels

17 Which of the following groups contains members with similar chemical reactivity?

AR Li, Be, C

AS Be, Mg, Sr

AT Sc, Y, Zr

AU C, N, O

Category 2: Force, Motion & Energy 

18 Which illustration below correctly shows the skateboard’s direction of motion after the student releases the ball?

[image: image5.emf]
19 Which of the following best represents stored potential energy?

AV Air leaking from a flat tire

AW Stress built up in a rock fault

AX Heat given off by a forest fire

AY Water flowing through a hose

20 What is the “advantage” of producing electricity using solar power instead of burning coal? 

AZ Solar power plants can only operate for about 8 hours per day.

BA Solar power plants produce different amounts of energy on different days.

BB Solar power plants produce fewer pollutants than other types of energy sources.

BC Solar power plants require continuous sunlight to produce power.

21 The Pioneer 10 spacecraft was launched in March 1972 to explore the solar system. Pioneer 10 has continued on its journey and is now traveling beyond the solar system. Which statement best explains why Pioneer 10 continues to travel farther out into space?

BD For every action force, there is an equal and opposite reaction force.

BE Objects in motion will remain in motion unless acted on by unbalanced forces.

BF The force of the solar wind propels objects through space at a constant speed.

BG [image: image9.emf]Objects in space accelerate at a greater rate than objects on Earth.

22 The graph shows the distance traveled by a vehicle over a certain period of time. Which segment of the graph shows the vehicle moving with the greatest speed?

BH L

BI M

BJ N

BK O

[image: image10.emf]
23 An athlete runs the 100-meter event in 50 seconds. How much work did she do?

BL 2 J

BM 12 J

BN [image: image11.emf]5000 J

BO 60,000 J
24 Calculate the amount of force exerted by a 50 kg mass on the Earth’s surface.  ____ N
Record and bubble in your answer to the nearest tenth on the griddable to the right.

25 [image: image12.emf]The graph below shows the motion of a model train. What was the average speed of the train in meters/second between points B and C? 
Record and bubble in your answer to the nearest tenth on the griddable below.
















